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AKIRA 74kg NAOKI 74kg
ATSUSHI 67kg NAOTO 63kg
HIRO 63kg NESMITH 67kg
KELI 69kg SHOKICHI 72kg
KENCHI 69kg TAKAHIRO 63kg
MAKIDAI 65kg TETSUYA 65kg
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Dunkirk to Paris
Module: 62472.59 Module

Degree: 2.18910
Midpoint: 49°56’°30”

Dunkirk

Paris to Evaux
Module: 76145.74
Degree: 2.66868
Midpoint: 47°30°46”

Evaux to Carcassone
Module: 84424.55
Degree: 2.96336

Carcassone Midpoint: 44°41’48”

Carcassone to Barcelona
Barcelona Module: 52749.48
Degree: 1.85266
Midpoint: 42°17°20”

Stigler. Ann Stat 1981;9(3):465-74
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